
Study Guide for Common Assessment 

1. Given 𝑓(𝑥)  =  3𝑥2  +  2𝑥 –  4, find 𝑓(3). 
a. 2  b.  52   c.  12   d.  29   e.  None of these 

 
 
 
 

2. If 𝑓(𝑥)  =  3𝑥 +  2 and 𝑔(𝑥)  =  7 −  3𝑥, find (𝑓 −  𝑔)(5). 
a. 11  b.  55   c.  -5   d.  25   e.  None of these 

 

 
3. Select the proper domain and range of the function show below: 

 

a. D = [-4,6]; R = [-3,2] 
b. D = [-4, ∞); R = [-3, ∞) 
c. D = [-3, ∞); R = [-4, ∞) 
d. D = (-∞, ∞); R = (-∞, ∞) 
e. None of these. 

 

 

 
4. Which of the following is a quadratic function whose 

graph is a parabola which has a vertex at (−2,3) and opens up? 
a. 𝑦 =  −(𝑥 −  2)2  + 3     b.  𝑦 =  −(𝑥 +  2)2  +  3   c.  𝑦 =  (𝑥 +  2)2  + 3   
d. 𝑦 =  (𝑥 –  2)2  +  3                       e.  𝑦 =  (𝑥 −  2)2 –  3 

 
 
 

5. What is the vertex of 𝑥 =  𝑦2 +  6𝑦 +  15? 
a. (6, −3)  b.  (−3,6)  c.  (−12, −3)  d.  (−3, −12)  e.  None of these 

 
 
 

6. Find the slope of a line that is perpendicular to the line that contains the points (−3, 4) and (2,1).  
a. 3

5
   b.  5

3
   c.  - 3

5
   d. - 5

3
     e.  None of these 

 
 
 
    

7. Select the linear function that has a slope of -4 and a y-intercept of (0, −7).  
a. 𝑦 =  −7𝑥 +  4  b.  𝑦 =  4𝑥 +  7 c.  𝑦 =  −4𝑥 +  7 d.  𝑦 =  4𝑥 –  7     e. None of these 
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8. Select the linear function that has a slope of -4 and a x-intercept of (−7, 0).  
a. 𝑦 =  −7𝑥 +  4  b.  𝑦 =  4𝑥 +  7 c.  𝑦 =  −4𝑥 +  7 d.  𝑦 =  4𝑥 –  7      e. None of these 

 
 
 
 

9. Which of the following is a decreasing linear function going through the origin?  

a. 𝑦 =  3
5

𝑥  b. 𝑦 =  −2𝑥 +  4  c. 𝑦 =  4𝑥  d. 𝑦 =  − 3
5

𝑥      e. None of these 

 

 

10.   Which of the following is the graph of the linear function 𝑓(𝑥)  =  − 2
3

𝑥 + 2? 

a.        b. 

    

 

 

 

 

 

c.        d.  

    

 

 

 

 

e. None of the above 

 

 

11. Select the description that fits the graph of the quadratic function 𝑦 =  2𝑥2 –  8𝑥 +  13. 
a.  𝑦-intercept (0, 13) and vertex of (2, 5). 
b.  𝑦 -intercept (13, 0)  and vertex of (2, 5). 
c.  𝑦 -intercept (0, 19) and vertex of (−2, −1). 
d.  𝑦 -intercept (19, 0) and vertex of (−2, −1). 
e.  None of these 
 
 

You
couldalso write y 4xtb t substituteC70 in the equation Thus

0 4C7 tb b 28 Thus the equation y 4 28has a slopeof 4and a0 28 6 X intercept ofC7,0

M 7 m 4 m 4 me 7
Choice C isthe only one with the correctslope Butwhen y 0 we get
0 4 17 so X 74 which is the incorrect X intercept

Increasing Decreasing
0

Increasing DecreasingThrough 0,0 Not through
Cop Through 90 through 0,0

x x

t.EE imn3b2 i 2

slope i 3
positive i

i
i

0 x

15 2 3 b 2

i
i 2 slope isi m 7 positiveI 3

LetX o They intercept is 0,13

Vertex 12 04 2

y 2 272 86 13
8 161 13
5
2,5



 
12. Identify the description that fits the graph of ℎ(𝑥)  =  (𝑥 + 5)3(𝑥 − 7)2(𝑥 − 1). 
a. Crosses the 𝑥-axis at (5,0) and (−1,0) and bounces off the 𝑥 -axis at (−7,0). 
b. Crosses the 𝑥 -axis at (−7,0) and bounces off the 𝑥 -axis at (5,0) and (−1,0). 
c. Crosses the 𝑥 -axis at (−5,0) and (1,0) and bounces off the 𝑥 -axis at (7,0). 
d. Crosses the 𝑥 -axis at (7,0) and bounces off the 𝑥 -axis at (−7,0) and (1,0). 
e. None of these 
 
 
13. What is the degree of the polynomial function ℎ(𝑥)  =  (𝑥 − 5)3(𝑥 − 7)2(𝑥 − 1). 
a. 2  b. 3  c. 5  d.  6  e.  7 
 
 

 
14. Specify the degree and end behavior of 𝑦 =  −𝑥(𝑥 − 3)2(𝑥 − 1)3(𝑥 + 4)2. 
a.  Degree = 3; End behavior:  up/down. 
b.  Degree = 7; End behavior:  down/up 
c.  Degree = 8; End behavior:  down/up. 
d.  Degree = 8; End behavior:  down/down. 
e.  None of these 
 
 
 
15. Solve log(𝑥 + 3)  – log(𝑥) =  1 for 𝑥. 

a.  3      b. - 1
3
       c.  –3       d.  1

3
   e.  None of these 

 

 

 

16.  If 𝑔(𝑥)  =  8𝑥 +  11, then 𝑔−1(𝑥)  = 

a.  −8𝑥 −  11    b.  𝑥+11
−8

      c.  𝑥− 11
8

   d.  11𝑥 +  8  e.  None of these 

 

 

 

 

17.  When 𝑔(𝑥)  =  4𝑥 –  11, and 𝑓(𝑥)  =  2𝑥2  +  5, then (𝑔 ∘ 𝑓)(𝑥) = 

a.  2x2 – 10  b.  4x2 – 28x + 46 c.  2x2 – 13  d.  2x3 – 7x2 –6x + 21 e.  8𝑥2 + 9 
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18. Choose the ordered pair that is a solution of the system: { 𝑥 + 𝑦 = 2
2𝑥 + 𝑦 = 3 

 
a. (1, 1)  b.  (−1, 1)  c.  (1, −1)  d. (2, 0)  e. None of these 

 

 

 

19.  Which of the following is a solution for the system { 𝑥 + 9𝑦 = 9
6𝑥 − 7𝑦 =  −7. 

a. (0, 0) b. (1, 1)   c. (1, 0)   d. (0, 1)  e. None of these 

 

 

 

20.   Find the solution of this system of equations:  {5𝑥 + 𝑦 =  11
3𝑥 − 2𝑦 = 4  

a.  The system has no solutions. 
b.  The system has an infinite number of solutions. 
c.  The system has one solution with 𝑥 positive and 𝑦 positive. 
d.  The system has one solution with 𝑥 negative and 𝑦 positive. 
e.  The system has one solution with 𝑥 positive and 𝑦 negative. 

 

21. Solve the following system:            {
3𝑥 + 9𝑦 + 6𝑧 = 3
2𝑥 + 𝑦 − 𝑧     = 2
𝑥 + 𝑦 + 𝑧       = 2

  

a. (1, 2, −3) 
b. (−2, 1, 0) 
c. (1

2
, 3, 2) 

d. (2, −1, 1) 
e. None of these 
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22. What is the distance between the two points (−6, −4) and (0, −2) 

a. 𝑥 = 60 
b. 𝑥 = √40 
c. 𝑥 = 2√10 
d. 𝑦 = 32 
e. None of the above 
 
 

 
23.  Solve for 𝑥:    log2(𝑥 + 2) + log2 4 = log2 32. 

a. 𝑥 =  2  b. 𝑥 =  6  c. 𝑥 =  8  d. 𝑥 =  4  e.  No solution 

 

 

 

 

24. Solve the equation:  9(3𝑥−12) = (3)2𝑥. 

a. 12   b.  -12   c.  -6      d.  6   e.  No solution 

 

 

25.  Identify the asymptotes of the graph given by 𝒉(𝒙) = 𝒙𝟐−𝟐𝟓
𝒙𝟐−𝟏𝟔 

a.  Horizontal asymptote 𝑦 = 0; Vertical asymptote 𝑥 = 5. 
b.  Horizontal asymptote 𝑦 = 1; Vertical asymptote 𝑥 = 5. 
c.  Horizontal asymptote 𝑦 = 0; Vertical asymptotes 𝑥 = 4 and 𝑥 = -4. 
d.  Horizontal asymptote 𝑦 = 1; Vertical asymptotes 𝑥 = 4 and 𝑥 = -4. 
e.  None of the above are correct. 
 
 
 
 
26. Which of the following equations could match 

 the graph shown on the right? 

 

a. 𝑦 =  −𝑥2( 𝑥 +  1)2(𝑥 − 2) 
b. 𝑦 =  𝑥2(𝑥 +  1)2(𝑥 − 2) 
c. 𝑦 =  𝑥2(𝑥 +  1)(𝑥 − 2)2 
d. 𝑦 =  −𝑥2(𝑥 +  1)(𝑥 − 2)2 
e. None of these 
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27.  Solve for 𝑥:   4𝑥  =  5.7. 

a.  𝑥 = ln (5.7
4

)      b.  𝑥 =  1.255  c. 𝑥 = log 4
log 5.7

  d.  𝑥 =  log4 5.7  e. 𝑥 =  0.702 

 

 

 

 

28.  Which of the following is an ellipse with center (4, −7)? 

a.  (𝑥+4)2

9
− (𝑦−7)2

16
= 1 

b.  − (𝑥+4)2

9
+ (𝑦−7)2

7
= 1 

c.  (𝑥+4)2

9
+ (𝑦−7)2

49
= 1 

d.  (𝑥−4)2

9
+ (𝑦+7)2

49
= 1 

e.  (𝑥 +  4)2  + (𝑦 –  7)2  =  1 

f.  𝑦 =  (𝑥 –  4) 2 +  7 

g.  𝑦 =  (𝑥 − 7)2  +  4 

h.  𝑥 =  (𝑦 –  4) 2 +  7 

i.  𝑥 =  (𝑦 +  7)2  +  4 

j.  None of these 

 
 

29.   Which of the following is a parabola opening right with a vertex of (4, −7)? 

a.   (𝑥+4)2

9
− (𝑦−7)2

16
= 1 

b.   − (𝑥+4)2

9
+ (𝑦−7)2

7
= 1 

c.   (𝑥+4)2

9
+ (𝑦−7)2

49
= 1 

d.   (𝑥−4)2

9
+ (𝑦+7)2

49
= 1 

e.   (𝑥 +  4)2  + (𝑦 –  7)2  =  1 
f.   𝑦 =  (𝑥 –  4)2  +  7 
g.   𝑦 =  (𝑥 − 7) 2 +  4 
h.   𝑥 =  (𝑦 –  4)2  +  7 
i.   𝑥 =  (𝑦 + 7)2 +  4 
j.   None of these 
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30. Which of the following is a hyperbola with branches opening left and right? 

a. (𝑥+4)2

9
− (𝑦−7)2

16
= 1 

b. − (𝑥+4)2

9
+ (𝑦−7)2

7
= 1 

c. (𝑥+4)2

9
+ (𝑦−7)2

49
= 1 

d. (𝑥−4)2

9
+ (𝑦+7)2

49
= 1 

e. (𝑥 +  4)2  +  (𝑦 –  7)2  =  1 
f. 𝑦 =  (𝑥 –  4)2  +  7 
g. 𝑦 =  (𝑥 − 7)2  +  4 
h. 𝑥 =  (𝑦 –  4)2  +  7 
i. 𝑥 =  (𝑦 +  7)2 +  4 
j. None of these 
 

31. Solve log𝑥 8 = − 1
2
. 

a. -64 
b. -16 
c. 1

64
 

d. 4 
e. -4 
 
 

32. Solve the logarithmic equation:  log4(𝑥 − 2) + log4(𝑥 − 2) = 1. 

a. -4, 4 
b. √5 
c. 3 
d. 4 
e. None of these. 

 

33. Solve the exponential equation:  2𝑥 = 22. 

a. 0.224 
b. 2.398 
c. 4.459 
d. 11 
e. -1.041 
 

34. Solve the logarithmic equation for 𝑥:  log𝑎(𝑥) = log𝑎(4) + log𝑎(8) . 

a. 1
2
 

b. 2 
c. 12 
d. 32 
e. None of these. 
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35.  Select the description that fits the graph of the quadratic function 𝑦 =  𝑥2 –  10𝑥 +  24. 
a. 𝑦-intercept (0,24) and vertex of (5, −1). 
b. 𝑦 -intercept (24,0)  and vertex of (5, −1). 
c. 𝑦 -intercept (0,24) and vertex of (−5, −1). 
d. 𝑦 -intercept (24,0) and vertex of (−5, −1). 
e. None of these 
 

 
 

36.  Identify the description that fits the graph of ℎ(𝑥)  =  (𝑥 + 4)2(𝑥 − 3)3(𝑥 − 1)4. 
a. Crosses the 𝑥-axis at (4,0) and (−1,0) and bounces off the 𝑥 -axis at (−3,0). 
b. Crosses the 𝑥 -axis at (−3,0) and bounces off the 𝑥 -axis at (4,0) and (−1,0). 
c. Crosses the 𝑥 -axis at (−4,0) and (1,0) and bounces off the 𝑥 -axis at (3,0). 
d. Crosses the 𝑥 -axis at (3,0) and bounces off the 𝑥 -axis at (−4,0) and (1,0). 
e. Crosses the 𝑥 -axis at (3,0) and (−1,0) and bounces off the 𝑥 -axis at (−4,0). 
 
 

37.  Which system of equations would result in the following graph and what are the solutions to the system of 
equations? 

 

a.  {𝑥2 + 𝑦2 = 5
𝑦 = −𝑥 + 1 , with solutions (3, −4) and (−3,4) 

b. {𝑥2 + 𝑦2 = 25
𝑦 = −𝑥 + 1 , with solutions (3, −4) and (−3,4) 

c. {𝑦 =  𝑥2 + 25
𝑦 = −𝑥 − 1 , with solutions (3, −4) and (−3,4) 

d. {𝑦 = −𝑥2 −  5
𝑦 = −𝑥 − 1 , with solutions (3, −4) and (−3,4) 

e. {𝑥2 + 𝑦2 = 25
𝑦 = 𝑥 + 1 , with solutions (3, −4) and (−3,4) 

 
 
38. Find the exact value, in simplified form, of the distance between (3, −7) and (6,2).   

a. √34 
b. √90 
c. 3√10 
d. 9√2 
e. √106 
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39. Select the domain of 𝑓(𝑥) = (𝑥+2)(𝑥−4)
𝑥+7

. 

a. (−∞, 7) 
b. (−∞, −2) ∪ (−2,4) U (4, ∞) 
c. (7, ∞) 
d. (−∞, 7)  ∪ (7, ∞) 
e. (−∞, −7) ∪ (−7, ∞) 
 
 
 
40.  What is the domain of 𝑓(𝑥) = √𝑥 + 5 
a. (−∞, −5) 
b. (−∞, −5] 
c. (−5, ∞) 
d. [−5. ∞) 
e. (−∞, −5) ∪ (−5, ∞) 

 
 
 

41. When 5𝑥4 + 3𝑥2 −  4𝑥 –  7 is divided by 𝑥 + 2 the result is: 

a. 5𝑥3 +  13𝑥 +  22 − 37
𝑥+2

 
b. 5𝑥3 – 13𝑥2 + 22𝑥 − 37 
c. 5𝑥3 + 10𝑥2 + 23 𝑥 +  42 +  77

𝑥+2
 

d. 5𝑥3 −  10𝑥2 + 23 𝑥 −  50 + 93
𝑥+2

 
e. None of the above 
 

 
 
 
 

42. Which of the following is the correct standard form of the equation 𝑥2 + 6𝑥 +  𝑦2 –  4𝑦 –  10 =  0? 

a. (𝑥 + 3)2  +  (𝑦 –  2)2  =  10 
b. (𝑥 − 3)2  +  (𝑦 +  2)2  =  10 
c. (𝑥 + 3)2  +  (𝑦 –  2)2  =  23 
d. (𝑥 − 3)2  +  (𝑦 +  2)2  =  23 
e. None of the above 
 
 

43.  Which formula correctly corresponds to the given graph?   
a.  𝑦 = |−𝑥| − 4 
b. 𝑦 = |−𝑥| + 4 
c. 𝑦 = −|𝑥 + 4| 
d. 𝑦 = −|𝑥 − 4| 
e. 𝑦 = |−𝑥 + 4| 
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